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‘Co-ordination is the orderly

synchronization of efforts’ was the view of

(1) Follet

(2) Newman
(3) F.M. Marx
(4) M. Gross

Which one of the following is not an
effective means of coordination?

(1) Planning

(2) Standardisation. of procedure
(3) Fixation of responsibility

(4) Concentration of power

Mullet did not suggest the following on a
technique of supervision

(1)

Prior approval

(2) Reporting

3
(4)

Approval of staff

Annual inspection

Who emphasised the importance of
human element in organisation?

(1) Weber

(2). Taylor

(3) Mayo :
(4) Urwick

(4)
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The means of arriving at decisions are
usually not

(1) Rational
(2) Emotional
(3) Deliberate
(4) Scientific

Who is not an exponent of the traitist
approach?

(1) Tead

(2) Barnard
(3) Simon
(4) Schell

Which of the following is not the
function of leader according to Barnard?

€3]

Determination of objective

(2) Control
(3) Coordination
(4) Propagation of results

Which of the following is not downward
communication?

(1) Budget sanction
(2) Conference

(3) Order

(4) Warning
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10.

IX.

12.

(6)

Which of the following is not a factor of
motivation?

(1) Good service conditions

(2) Fringe benefits

@)

(4)

Strict supervision

Research

Which is not a need in Maslow's

explanation? |
(1) Physical
(2) Safety

(3) Emotional
(4) Esteem

Which is not a feature of a public

- corporation?
(1) It is owned by the state
(2) Itis alegal person
(3) Itis subject to audit laws
4) 1It's e.mployees are civil servants

Which is not a feature of a departmental

undertaking?

(1) Budget provides its money

(2) It is subject to audit rules

(3) Its staff are civil servants

(4) It does not possess sovereign

immunity of the state

13‘

14.

15.
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Dyarchy was introduced in India in the
year

16.

(1) 1935
(2) 1909
(3) 1919
(4) 1947

‘Portfolio’ system was found by

(1) Mayo

(2) Taylor

(3) Lincolon

(4) Canning

Delegated legislation has  become

unavoidable because

(1) Legislature has ample time

(2) Legislature has no time

(3) Legislature is over burdened with
work

(4) None of the above

Which of the following can control public

administration?

(1) Public opinion

(2) Professional standard
(3) Ethics

(4) All the above
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17'

18.

19.

20.

(8

The year in which North-Cote Travelyan
report was published
(1) 1857
(2) 1853
(3) 1860
1865

4

The most effective democratic control
over administrationis - '

(1) Eiect_ion

(2) By-election

(3) Referendum

(4) Recall

The year in which James Wilson
presented budget in India

(1) 1860

(2) 1857

(3) 1947

(4) 1919

The most effective control over

‘administration according to L.D. White
18

(1) Administrative audit
(2) Legislative

(3) Post-audit

(4) Test audit

21.

22,

23.
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Who is regarded as the “Father of
Indian Budgetary System”?

(1) 'Woodrow Wilson
(2) James Wilson
(3) Thomas Edison
(4) Rippon

Public opinion is the most effective

check on

(1) Legislature

(2) Executive

(3) Administration
(4) None of the above

Parliamentary Commissioner in UK is

appointed by -

House of Lords

(1)

(2) Prime Minister
(3) Cabinet

(4) | Queen
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24,

25.

26.

27,

Parliamentary Commissioner in UK is
appointed in accordance with the Act of

(1)
(2)
(3)
(4)

1953
1957
1962

1967 -

In Britain judicial review is

(1)
(2)
(3)
(4)

applicable
not applicable
partially applicable

constitutionally applicable

The country in which rank classification
is not followed

oY)
(2)

G

(4)

Who was the Chairman first pay

@

India

China

‘Britain

America

commission?

(1) Varadacharan
Ashok Mehta

(3) Kumar Sen

(C))

Patel

(10)

28.

29.

30.

The system of “hiring” — “firing” is vogue

in
(1)
(2
(3)

(4)

Who is regarded as the “father of

India
Britain
Canada

America.

zero-based budget system”?

(eY)

()

(3)

(4)

The most effective means of citizens

Peter A. Phyrr _
James Wilson
Nixon

Hoover
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control over administration is

(1)

(2)

(3)

4

Election
Pressure groups
Advisory committees -

Public opinion
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31.

32.

33.

34,

(12)

For unforeseen expenditure money can
be advanced by

(1) Parliament
(2) President
(3) Prime Minister

(4) Finance Minister

Speaker applies guillotine when
(1) discussions are over
(2) after voting is over

(3) when demand are discussed

(4) when time is short

Traditional budget is formed in terms of .

(1) targets
(2) work load

(3) objects of expenditure

(4) schemes of projects.

Under departmentalisation of accounts,
the chief accounts officer of a ministry is

(1) Accounts officer
(2) Secretary of a ministry

(3) Revenue officer '

(4) Financial advisor of a ministry

35,

36.

37.

38.
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Principles- of
recommended by

grants-in  aid  are

(1) Planning Commission
(2) ARC
(3) Finance Commission

(49 PAC.

Which of the following is NOT correct?

(1) Ecology of public ;
— Riggs

administration
(2) The central

executive -~ S.S. Khera
(3) Principles of

public

administration - Willoughbee
(4) Administrative

state —  Mosler
Who was the chairman of A.P.
administrative reforms commission

which submitted its report in 19657
(1) N. Ramachandra Reddy

(2) Morarji Desai

(3) Janandhana Reddy

(4) Gorwala

Which is not an occasion for criticising
administration?

(1) General discussion on budget
(2) Voting of demands for growth
(3) Motion of thanks to president

(4) Discussion on finance bill
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39.

40.

41.

42,

(14)

‘Performance budgeting’ was introduced
in India on the recommendation of

(1) Gorwala Report

(2) Santhanam Committee

(3) AR.C

(4) Appelby report

Which one of the following is not a
primary -function . of the accounting
system?

(1) To reveal financial conditions of
the organisation

(2) To protect those who handle funds

(3) To prevent necessary adjustments
in expenditure

(4) To help auditing

Deficit financing is resorted to by the
government

(1) toincrease the budget allocation

(2) to meet the gap between the
revenue and expenditure budgets

(3) to increase
expenditure

government

(4) to pay salary

The number of standing parliamentary
committees to scrutinise the demands
for grants of various ministries is

(1) 10
2 12
@ 17
(4) 20

43.

44,

45.

46.
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Under the constitution of India after its
recent amendment, how many subjects
should be allotted to Panchayati Raj?

(1) 21

(2) 29
(3) 34
(4) 18

Fiscal policy aims at
(1) increasing export
(2) facilitating credit
(3) advancing loans

(4) accelerating economic growth

The role of the Finance commission is
centre-state fiscal relations has been
undermined by

(1) State governments
(2) Zonal councils
(3) Planning commission

(4) Election commission:

The Central Board of Revenue has been
set up by -

(1) the constitution
(2) the order of finance minister
(3) alaw of parliament

(4) a presidential order
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47,

48.

49.

60.

Who of the following compared the
District Collector to a tortoise on whose
back stood the elephant of the
Government of India? :

(1) Sir George Campbell

(2) Sir William Wilson

(3) ' The imperial Gazetteer of India
(4) Ramsay Mc Donald

District Judges are appointed by

(1) The Chief Justice of High Court
(2) State P.S.C.

(3)  Chief Minister

(4) Governor

Panchayati Raj was adopted first by (in
the order)

(1) Rajasthan, M.P.
(2) Andhra Pradesh, West Bengal

(3) Rajasthan, Andhra Pradesh

(4) Andhra Pradesh, Rajasthan

Money bill can be introduced in the state

legislature only on the recommendation
of

(1) Speaker
(2) Finance Minister
(3) Chief Minister 5

(4) Governor

(16)

51.

52.

53.
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District Collector belongs to the
following department of the state

(1) Revenue
(2) Home
(3) Rural development

(4) General administration

The office of District Collector was

created in India is

W 1m

(2) 1772
3) 1774
(4) 1777

Directorate in state administration is a

body.

(1) Policy making
(2) Constitutional

(3) Statutory

(4 Implementation of policies
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54.

35.

56.

57.

(18)

Panchayati Raj is a system of
(1) Urban local government
(2) Urban administration
(3) Zonal administration

(4) Rural local-self government

A proclamation of emergency issued
under Article 356 must be approved by
parliament within

(1) 1 month
(2) 6 weeks
(3) 2 months

(4) 3 months

The Prime Minister’'s office was known
as Prime Minister’s Secretariat till

(1) 1955

(2) 1962
3) 1977
4) 1979

‘For what period the Vice-President of

India hold office
- (1) 5 years
(2) 6 years
(3) Z2years F

(4) Till the age of 65 years

LD/709

58. Minimum age requested to contest for

59.

60.

presidentship is

(1) 30 years

- (2) 35 years

(3) 23 years

(4) 21 years

Who is the longest
Chief Minister in India’é

(1) N.T. Ramarao
(2) Bhajanlal

(3) dJyoti Basu

(4) dJayalalitha

service

The role of the collector can be linked. to

which of the following functionaries of

Mughal period?
(1) Karori Faujdar -

(2) Manasabadar

(3) Kotwal

(4) Subedar
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57.
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61.

62.

63.

64.

(20)

Personnel management is not concerned
with

(1) Recruitment
(2) Position-classification
(3) . Pay determination

(4) Moral uplift

Position classification is of two types :
Rank and Duty classification. In which
of the following countries the system of
rank classification is not followed?

(1) India
(2) United States

(3) France

(4) Great Britain

Which of the following is not an All
India Service?

(1) Indian Administrative service
(2) Indian Postal service
(3) Indian Forest service

(4) Indian Police service

In ancient times necessity for a sound
recruitment policy was first recognised
by

(1) China
(2) Egypt
(3) Greece
(4) Prussia

65.

66.

67.

68.

LD/709

The system of open competition for
recruitment was adopted in U.K. in

(1) 1853

(2) 1855
(3) 1870
(4) 1883

Merit system of recruitment started in
England according to the following
report :

(1) Fulton Committee
(2) Mac Donnel Commission
(3) Ridley Commission

(4) North Cote-Trevelyan Committee

Which of the following is not a bar to
civil service?

(1) Citizenship

(2) Domicile

(3) Sex
(4) Age

UPSC came into existence in India in
the year

(1) 1926
(2) 1950
(3) 1947

(4) 1935
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69.

70.

71.

T2,

Santanam Committee relates to

(1)
(2)
(3)
(4)

Law and order
Income tax
Compton

Tourism

Lalbahadur Academy of Administration,
Mussorie was started in

(1)
(2)
(3
(4)

1947
1959
1969

1972

[.P.S. probationers get training at

(1)
(2)
(3)
(4)

Mussoorie
Mount Abu
Shimla

Hyderabad

Which of the following criteria of
promotion is least controversial?

(1)
(2)
3)
(4)

Service rating
Competitive examination

Seniority

L3

Personal

judgement of the

appointing authority

(22)

73.

74.

5.

LD/709

White suggests 3 guidelines of efficiency

rating, which is not one of them?

(1)
(2)

(3)

(4)

Performance
Caution in the use of results

Skill among superiors who make
rating
various

Separate for

rating

categories of employees

Who appointed Sarkaria commission?

(1)
(2)
(3)

(4)

Rajiv Gandhi
Indira Gandhi
V.P. Singh

Narasimha Rao

Civil service was defined as ‘Professional

body of officials, permanent, paid and

skilled’ by

(1) Herman Finer
(2) Glen Stahl

(3) Felix Nigro

(4)

Gladden
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76.

i

78.

79.

Learning by doing is called
(1) Formal training

(2) Informal training

(3) In-service training

(4) Post-entry training

Elevation from state civil service to the
IAS is done by

(1) A board with a member of UPSC
as chairman

(2) A board with the Chief secretary
on the chairman

(3) State P.S.C.

(4) Department of personnel

Which report in Britain laid down the
concept of neutrality?

(1) Masterman Committee
(2) Hoover Commission
(3) North-Cote Trevelyn
(4)  Fulton Report

Classification of services in India is
governed by the civil service rules of

(1) 1930
(2) 1950
(3) 1960
(4) 1987

(24)

80.

81.

82.

83.

LD/709

Which is not a system of efficiency
rating in the U.S.A.?

(1)- Production record
(2) Graphic rating scalé
(3) Personality inventory system

(4) Personal appraisal system

The first chairman of ARC was
(1) Hanumanthaiah

(2) G.L. Nanda

(3) Morarji Desai

(4) T. Krishnamachari

Political right of a civil servant in India
do not prohibit

(1) Expression of political view
(2) Contribution to a party
(3) Participating a political movement

(4) Voting at elections

The principle of anonymity flows

directly from the doctrine of
(1) legal responsibility

(2) collecti-ve responsibility
(3) ministerial responsibility

(4) professional responsibility
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34,

. 85.

86.

(26)

The basic objective of interview is to
access the candidates

(1) Intellectual capacity

(2) General knowledge

(3) Personal qualities

(4) Power of expression

Who is the person appointed as the
Chief Minister of Andhra Pradesh at
younger age than others?

(1) Rajasekhara Reddy
(2) Chandrababu Naidu
(3) Damodaram Sangaivah

(4) Neelam Sanjiva Reddy

In whose writings, we can see “Rule of

?

law”

(1) Gladden

(2) Weber
(3) Taylor ,
(4) Diecey

87.

88,

89.

90.

LD/709

Which one of the following is not correct
about training of personnel?

(1) It is an investment in human
resource development

(2) . It is a tool of improving efficiency
of personal

(3) It s to maintain morale

(4) Training can be formal only

The system of efficiency rating for
promotion was first introduced in

(1) UK
(2) USA
(3) France
(4) China

Which of the following is NOT correct
about classification in relation to the
countries mentioned below?

(1) Position classification — U.S.A
(2) Rank classification — India

(3) Position classification — U.K.
(4) Rank classification — France

‘Rule of lapse’ means

(1) appropriations voted by legislature
expire at the end of financial year

(2) pending bills in parliament lapse
with prorogation

(3) demand for growth of a industry
lapse with public criticism

(4) appropriation bill lapse if not
returned by Rajya Sabha
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91.

92.

93.

94.

95.

Function of the leader in the setting and
achieving of organisational goal is

(1) Policy making

(2) Planning
(3) Execution
(4) All the above

In which style of leadership every body

is involved in work and take
responsibility?

(1) Autocratic

(2) Democratic

(3) Laissez Faire

(4) None of the above

“The heart of administration in the
management of programme designed to
serve general welfare” is said by

(1) Davis

(2) Koontz

(3) Appleby

(4) None of the above

Under which leadership the leader alone
determines policy?

(1) Autocratic

(2) Democratic

(8) Laissez faire

(4) None of the above

Decision  making  permeates  all

managerial functions relating to

(1) Planning

(2) Directing

(3) Staffing

(4) All the above

(28)

96.

97.

98.

99,

100.
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Which of the following is NOT correct?
(1)

India — Parliamentary form of

goverrment

(2) America — Spoils system

(3) France - Collegiative type of
democracy

(4) Britain -  Political neutral
bureaucracy

Need hierarchy theory is related to

(1) Alderfer
(2) Herzberg
(3) Maslow
(4) Follet

Two factor theory is related to

(1) Maslow

(2) Herzberg

(3) Melleland

(4) David Humpton

Expectancy theory is related to

(1) Vroom

(2) Maslow

(3) Weber

(4) Taylor

According to Herzberg man has

categories of needs.

(1) three

(2) four

(3) six

4) two
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101.

102.

103.

104.

105.

Structure is related to

(1) Ohio study
(2) Managerial
(3) Michigan

(4) None of these

Production orientation is related to

(1) Managerial grid

(2) Michigan studies
(3) Ohio study
(4) None of the above

Maslow is associated with

(1) Human relations

(2) Decision making

(3) Leadership

(4) Hierarchy of needs

Policy  decisions are taken by
management.

(1) middle

(2) lower

(3) top

(4) none

Who is the popular propounder of
critical theory?

(1) Hebermas
(2) Dawvid Mccland
(3) Thomas Gregory

4)

Vroom

(30)

107.

108.

109.

110.

LD/709
106. President of USA is elected by
(1) Members of Senate
(2) Members of House of
Representatives
(3) By both houses

(4) By popular verdict

Spoil system came to end in America
with the assassination of

(1) Wilson
(2) Garfield
(3) Jackson
(4) Lincoln

Merit system of selection in Britain was
introduced in

(1) 1917

(2) 1857

3 1921

(4) 1822

Regulatory commissions exist in
(1) India

(2) Britain

(3) France

4) USA

French ministerial cabinet comprises of
(1) Cabinet director

(2) Secretary

(3) Both

None

(4)
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' (32)

111. French Cabinet Director is
(1) Minister |
(2) Head of cabinet
(3) Second in cc;mmand after minister

(4) None

112. Which of the following is not a part of
French Government?

(1) Ministry

(2) Cabinet

(3) Department
(4) None

113. The best recognised model of hierarchy
in the structure of

(1) Army
(2) Church
(3) Club

(4) Factory

114. The basic feature of hierarchy is
(1) Rule by procedures
(2) Division of work

(3) Superior subordinate relationship

(4) Co-operation

115. Which is not the drawback of Unity of
command according to L.D. White?

(1) Irresponsibility
(2) Vascillation

(3) Disorganisation

(4) Non-fulfilment of goal

116.

) § &7 S

118.

119.

120.

LD/709

Effective span of control does not depend
on

(1) Calibre of subordinates
(2) Environment of organisation
(3) Type of work

(4) Emolument of employees

According to Urwick how many
subordinates can a supervisor control
properly?

() 3.4
(2 5,6
@) 1.8
(4) 9,10

Which does not constitute a process of
coordination?

(1) Consultation
(2) Discussion
(3) Immovation

(4) Unity of command

Authority depends on
(1) Skill

(2) Knowledge

(3) Ability

(4) Position

According to Barnard authority does not
depend on the right to

(1) Command
(2) Obey

(3) Flatter
(4) Listen
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121.

122.

123.

124.

125.

Who wrote the book “Introduction to the
study of public administration”?

(1) Fayol
(2)  White
(3) Mayo
(4) Taylor

The term “Public Administration” was
first used by

(1) Plato

(2). Aristotle

(3) Machiavelli
(4) Hamilton

‘Central Secretariat’ is an example for
(1) Line agency

(2) Staff agency

(3) Auxillary agency

(4) Line and Auxillary agencies

Integral view of public administration
was of

(1) Simon
(2) White
(3) Urwick

(4)  Gullick

Which one among the following is
associated with the ‘report on efficient
conduct of state enterprises’?

(1) Ayyangar Committee, 1949

(2) Secretariat
Committee, 1947

(3) Gorwala Report, 1951
(4) Apple by report, 1953 and 1956

Reorganisation

(34)
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129,

130.
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Which one of the following is NOT
upheld by New Public Administration?

(1) Value based approach

(2) Dogmas of efficiency and economy
(3) Social equity in service delivery
(4) Relevant research

Which one of the following was not
identified by Robert-Dahl as an issue in
the science of public administration?

(1) Need for normative considerations
(2) Human behaviour

(3) Importance of machine concept in
organisation

(4) Sociological factors

Public administration is different from
private administration in

(1)  productivity
(2) risk-taking
(3) financial returns

(4) legislative approval

The public choice model was advocated
by

(1)  Vincent Ostron
(2) Simon

(3) White

(4) Robert Dahl

Which one of the following is not in
‘POSDCORB?

(1) Planning
(2) Directing
(3) Budgeting .

(4) Communicating
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131.

132.

-133.

134.

135.

The view that there ought to be greater
emphasis on normative concerns in
public administration was held by

(1) Riggs

(2) Simon

(3) Frank Marini
(4) Ferrel Heady

Which of the following is not identified
by Dahl as a problem area?

(1) Values
(2) Personality differences
(3) Policy making

(4) Socio-cultural variations

Maxwell Graduate
administration is in

school of public

(1) India
(2) UK.
(3) France
(49 TUSA.

Who said, “for forms of government let

fools contest whatever is  best
administered, is best”?

(1) Plato

(2) Aristotle

(3) Simon

(4) Alexander Pope

Bureaucracy in India is linked to a steel
frame because of its

(1) feudal character
(2) red-tapism
(3) authoritarianism

(4) career service

(36)
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Which according to Weber is not the
character of bureaucracy?

(1) Impersonal order
(2) Monocratic type
(3) Hierarchy

(4) Informal methods

Which of the following is not a
significant feature of the Hawthorne
research? :

(1) Emphasis on rules
(2) Informal organisation
(3) Human-relations approach

(4) Man’s social nature

According to M.P. Follet, coordination
implies harmonious ordering of parts
because coordination is by

(1) indirect contact
(2) reciprocal relations
(3) last stage of implementation

(4) an inconsistent process

The influence of socio-psychological
factors on the worker’s output was first
proved by

(1) M.P. Follet

: (2) Taylor

(3) Elton Mayo
(4) Likert

Who among the following was
instrumental in the evolution of the
concept of New Public administration?

(1) Marini

(2) Fredrickson
(3) Waldo

(4) Simon



LD/709

131.

132.

133.

134.

135.

HEOBEONS’ DEPODE HoROTERYP )T
D57, 30700 DB J58?

(1) Bﬁ‘:_)

(2) PR

(3) |9°08 28D

@ »Bswré

s (208 THS® B ShodmgiEaor oS
KoBodB &>

(1) Devdew

(2)  S58/5 2R

(3) 257 dFao

(4) Redreads - @no?&w@é DR/YTGL

“5rERS Lr‘r"daé?fzes s S @ Rl
edPRIR” Ko BES0

(1) grodB8h0

(2) o3

3 @)

(4) esBsz

“PEbEg 650K eIhthnn % HEDSR I8
2O 9% 9B GHEANG" & IHETYEH?
(1) 5

(2) b3S

(3) P

(4) e8rosd D%

AR A B =TAY SRR ‘ES), W’ T
DHPOBTO8 S esn
(1) 253‘%33;‘135 ©5£30
(2) erdg0

(3) ©BsEHIE0
4) 255>

(37)

136.

137.

138.

139.

140.

Deb oo Se 208 TIE° DB &8 Rmgos
©FrHa S°E?

(1) o588 edze

(2) ey B850

(3) | ES0mRon® B3

(4)  ©roBR AN SR IFBow

9 ES 98T IS’ Sa |80 TRS” B S
© g 57607

(1) doHhdrey H57,80860

(2) oroddRR0HIN 50 I

(3) 0D Soaorre q)ggcﬁo

(4)  D0DA B0E), FRTPAE JLRTHRN

0.5, 285 55880 JR0Rg0S” @) errred
Ko H0DAr0n JoE0E SHRgoiHn

(1) eS8 Soons i

(2) BIDDNSA Jowogren

(3) edoens® 2988%

(4) edond :)g@

&8ioep dorop FIrBE - POJBS
DIOU (DEHR0 )0LVOED eI Brre
DETDOIN JDG7?

(1) 0.2, DS

(2) &b

(3) gd

(4) e.@;é

o 808 TBS' IHB I;HY (HEoHgoR
i) EDEDL 200PF07?

(1) 086}
(2) PEBEIS
@) =
(4) P20



141,

142.

143.

144,

145,

Which of the following approaches
emphasised inter-group relationship?

(1) Historical
(2) Philosophical
(3) Legal

(4) Behavioural

Which of the following statement is
incorrect about Taylor?

(1) He viewed man was too
mechanistic

(2) He upheld the carrot and stick
approach

(3) -He was preoccupied with efficiency

(4) He stood for creative relationship
with work

The ‘gang plank’ idea, is found in the
work of

(1) Fayol
(2) Follet
(3) Barnard
(4) Simon

Who divided the staff into general staff,
technical staff and auxillary staff?

(1) Gullick and Urwick
(2) Mooney and Raidy
(3) Pffner and Presthus

(4) Dimock and Dimock

Which of the following is correct?
(1) Gong Plank — Fayol

(2) POSD CORB - Mayo

(3) Scientific Managemen't — Dror

(4) ‘X' and 'Y’ theory — Weber

(38)

146,

147,

148.

149.

150.
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According to Follet a leader is one

(1) who energies his grdup

(2) who misguides them

(3) leads subordinates to stage strike
(4) who has no skill

Simons concept of administration is
based on

(1) Structural-functional approach
(2) Logical positivism

(3) Systems approach

(4) Elite approach

Who said “Leadership is influence upon
people and not power over them”?

(1) Follet

(2) Bernard
(3) MC Gregor
(4) Likert

Which of the following is NOT correct?
(1) * Herzberg — Motivation theory
(2) Mayo - Human relations

(8) Simon — Decision making

(4) Taylor — X and ‘Y’ theory |

Which of the following is the approach to
study leadership?

(1) Trait
(2) Situational
(3) Group

(4) All of the above



LD/709

141. &s 808 8S° 2 EyE)EDm 0BE -5

142,

143.

144.

145.

(2)

PHoOFTORN BeVHH0H?
(1)
(2)
(3)
(4)

TB s
g
508
ESlety

Beb K8y &+ 208 T3S° D8 T8 %?
(1) 0D SHORIT JE),HM grRoT e
3865 - 28 Sy5HTRy wOIsTW

(3) YD eprsdEd

(4) 308" LR Soworrel ROV

“regofl r08” g BB SWHeS® K708
(1) Hahd
@) 85
3)
(4)

Boyd
P00

To% WIBS D, 0EBE FH BB
e0S0RE %{Jm 28580208 JDK?

(1)  orgh 2o8asw KOS

(2)  H00°b H8a50 39

(3) DB 2B HID

(4) @08 2Boso gk

59 808 TS’ IB [5JIHQ

(1) regoR 2008 - had

(2) POSD CORB - &

(3) BRI DB - &6 |

(49 2§y 2Baio P’ dgroso Iwb

(39)

146.

147.

148,

149.

150.

(3)

DB 55780 TP 28

(1) @I 38

(2) eI BIpT8 5%;3)03:5"&3

(3) BB SARS" oSS HrodTD
(4) D9ED PHe0 BoTD

P30S B, oT° 55D BIP LEEIAN6
() K)E!dém - Ao tﬁas;)c{)o

(2) TP Az EHEW

(3) Ry SHEHw

(4) [%::ga EyEHEa0

CTOLEBEN A8 Do WrHo Brdd
50 8O ER0 55”7 © IDETYK?

(1) B

(2 Boyd

(3) ERAG

(4) &3

&a 808 T3S’ I8 TP 5°¢%07?
(1)
(2
(3)
4)

wrBeb - |H¥es dEroBHBN
@@ N @
AT - DD Howogren
PRS- dFaarELes
&3eb - I§) 208k P deoBinw

s 208 T3S” DB TAHEHLO’ DTS
9 By |

€Y
2

fOETe)

H8RBLY
[#3]

o & A

4 2 @ﬁ)&cﬁn




. (40) : LD/709

ROUGH WORK




